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X 30 CIHAAE) | 30,471 |56 | . 30,527 | X 304 (IHAK%F) 30, 471 56 30, 527

A LOAELL T (IH A HARR) 13,174 (30) 395 13,569 (30) 5] LOAELLT (IHA HIRR) 13,174 (30) 395 13,569 (30)
L2 " 304E  (IHIKAE) 1, 655 0 1,655 + " 304F  (IHZKAF) 1, 655 0 1,655
i I LOELLF (1B #IBR) 1,011 (21) 12 1,023 (21) i TR LOELLF (1B HIBR) 1,011 (21) 12 1,023 (21)
S B 32,126 (O)) 56 (O)f 32,182  (0) S N RS 32,126 (0) 56 (0f 32,182 (0)
" 104ELLF (IR HIFR) 14,185 (51) 407 (0) 14,592 (51) LOAELLT (IBA7HIER) 14,185 (51) 407 (0) 14,592 (51)
" s 304E (IH K 4F) 2, 093 1 2, 094 - 304E (IH K 4F) 2, 093 1 2, 094
= LOAELLT (IBA7HIER) 658 (9) 15 (1) 673  (10) % L04ELL T (IHAT HIFR) 658  (9) 15 (1) 673  (10)
NI — 367 (2) 72 139 (2) NI — 367 (2) 72 139 (2)
N = - 10 0 10 NEEB=R — 10 0 10
e 52 304F (IH7K4) 132 0 132 e 2 304F (IH7K4) 132 0 132
o 104EDLF (B HIFR) 11 0 11 P 104ELL T (IHA IR 11 0 11
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i — 040 F (IR AT 1R 13 2 15 i B L0% BT (AT 435 43 478
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ah B 104ELLF (I HER) 435 43 478 L04ELLF (I HER) 3 0 3
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B 104ELLF (IR A7 HIFR) 3 0 3 I e g 25 8 PR — 41 (1) 4 45 (1)
WHZB S — 2 0 2 - U BA FE Nt — 9 0 9
I3 o o S L — 11 (1) 4 45 (1) i — 4,498 (12) 137 (1) 4,635 (13)
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i BH FE A F — 9 0 9 & At 51,414 (63) 600 (1) 52,014 (64)
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